Algebra 2







Name: _________________________

Unit 4, Day 2A







Date: _______________ Period: ____

Parabola Practice and Review 
1. Practice:   Graph each parabola.  Be sure to identify the following information
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	2. Solve for the variables. Give Exact and approximate answers.
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	3.  For each function, determine the following information.  Be sure to make a complete graph 
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	​x–intercepts:  


	y–intercept:  


	

	line of symmetry:   


	vertex: 


	Vertex form:   

y = ____________________

	4. Factor Completely.
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	5. Investigate the function: 
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